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1.

If expected inflation is constant, then when the nominal interest rate increases, the real interest rate
A) increases by more than the change in the nominal interest rate. B} increases by the change in the nominal interest rate.

C} decreases by the change in the nominal interest rate. D} decreases by more than the change in the nominal interest rate.
- In the open economy macroeconomic model net capital outflow is equal to the quantity of

A) dollars supplied in the foreign exchange market. B) dollars demand in the foreign exchange market.

C) funds supplied in the loanable funds market. D} None of the above is correct,
. In order to maintain stable prices, a central bank must

A) maintain low interest rates. B ) keep unemployment low.  C) tightly control the money supply. D ) sell indexed bonds.

. The labor force equals the

A} number of people who are employed. B) number of people who are unemployed.
C) number of people employed plus the number of people uremployed.  [3) adult population.

- If the government's expenditures exceeded its receipts, it would likely
A) lend money to a bank or other firancial intermediary. B) borrow money from a bank or other financial intermediary.
C) buy bonds directly from the public. D) sell bonds directly to the public.

. The consumer price index is used to

A} differentiate gross national product from net national product.

B) turn dollar figures into meaningful measures of purchasing power.

C} characterize the types of goods and services that consumers purchase.
D) measure the quantity of goods and services that the economy produces.

- Why is it difficult to compare household income distributions ameng countries?

A) Countries collect data in different ways.

B) Some countries collect data on expenditures instead of incomes.

C) The task is not difficult because international agreements require countries to standardize their income accounting procedures,
D) Both a and b are correct.

- Factor markets are different from product markets in an important way because

A) equilibrium is the exception, and not the rule, in factor markets.

B) the demand for a factor of production is a derived demand.

C} the demand for a factor of production is likely to be upward sloping, in violation of the law of demand.
[}) All of the above are correct.

. In a market that is characterized by imperfect competition,

A} firms are price takers.

B} there are always a large number of firms. ‘
C) there are at least a few firms that compete with one another. *uﬁﬁil’ B
D) the actions of one firm in the market never have any impact on the other firms' profits.
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10. Which of the following is NOT a characteristic of a perfectly competitive market?
A) Firms afe"price takers. B) Firms have difficulty entering the market.
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C) There are many sellers in the market. D) Goods offered for sale are largely the same.
11. When compared to nonpoor countries, poor countries usually have A

A) very high tax burdens. B ) similar tax burdens.  C) relatively low tax burdens. D ) no taxes because of high poverty levels.
12. Externalities

A) cause markets to fail to allocate resources efficiently. B} cause equilibrium prices to be too high

C) benefit producers at the expense of consumers. D) cause equilibrium prices to be too low.
13. It does not matter whether a tax is levied on the buyers or the sellers of a good because

A) sellers always bear the full burden of the tax.

B) buyers always bear the full burden of the tax.

C) buyers and sellers will share the burden of the tax.

D} None of the above is correct; the incidence of the tax does depend on whether the buyers or the sellers are required to pay the tax.
14. A binding price floor in a market is set

A) above equilibrium price and causes a shortage. B) above equilibrium price and causes a surplus.

C) below equilibrium price and causes a surplus. D) below equilibrium price and causes a shortage.
15, For a competitive market, which of the following statements is correct?

A) A seller can always increase her profit by raising the price of her product.

B) If a seller charges more than the going price, buyers will go elsewhere to make their purchases.

C) A seller often charges less than the going price to increase sales and profit.

D} A single buyer can influence the price of the product, but only when purchasing from several sellers in a short period of time.
6. Other things equal, the demand for a good tends to be more inelastic, the

A) fewer the available substitutes. B) longer the time period considered.

C) more the good is considered a luxury good. D) more narrowly defined is the market for the good.
17. Consumer surplus is the

A) amount of a good consumers get without paying anything for it.

B} amount a consumer pays minus the amount the consumer is willing to pay. 3&% BE EPETJ’
C) amount a consumer is willing to pay minus the amount the consumer actually pays.

D) value of a good to a consumer.
i8. Trade among nations is ultimately based on
A) absolute advantage. B) strategic advantage, C) comparative advantage, Dj} technical advantage.
19. Which of the following is nof considered a public good?
A) national defense B) basic research C) fire protection D) fighting poverty
20, Economists normally assume that the goal of a firm is to
{i) make pr ofit as large as possible even if it means reducing output.
(ii} make profit as large as possible even if it means incurring a higher total cost.

(iii) make re venue as large as possible.
A) (i) and (ii} are true. B) (1) and (iii) are true. C) (i1) and (iii) are true. D) (i), (it), and (iii) are true.
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